
SAP ABAP table ISMITOP {SDB: Problem Trigger Object Part}

ISMITOP

CLIENT [CLNT (3)]

ISMNR [CHAR (12)]

ISMVR [NUMC (3)]

OPCNT [NUMC (4)]

ITEMNR [NUMC (4)]

OPCAT [CHAR (2)]

OPGRP [CHAR (8)]

OPCOD [CHAR (4)]

ISMIT

CLIENT [CLNT (3)]

ISMNR [CHAR (12)]

ISMVR [NUMC (3)]

ITEMNR [NUMC (4)]

 ISMITOP-ISMNR = ISMIT-ISMNR 

0..N

1
 ISMITOP-ISMVR = ISMIT-ISMVR 0..N

1
 ISMITOP-ITEMNR = ISMIT-ITEMNR 

0..N

1

QPCD

MANDT [CLNT (3)]

KATALOGART [CHAR (2)]

CODEGRUPPE [CHAR (8)]

CODE [CHAR (4)]

 ISMITOP-OPCOD = QPCD-CODE 
0..N{0,1}

QPGR

MANDT [CLNT (3)]

KATALOGART [CHAR (2)]

CODEGRUPPE [CHAR (8)]

 ISMITOP-OPGRP = QPGR-CODEGRUPPE 

0..N

{0,1}

T000

MANDT [CLNT (3)]

 ISMITOP-CLIENT = T000-MANDT 

0..N

1

TQ15

MANDT [CLNT (3)]

KATALOGART [CHAR (2)]

 ISMITOP-OPCAT = TQ15-KATALOGART 

0..N

{0,1}


